
ANSWER KEY

TOPICWISE EXAM - 15

29. b) 4

    (1250 cq]bv°v 5% \nc-°n¬ 1 h¿jsØ
]eni 62.50 cq].

          1500 ˛ 1250 = 250

            250/62.50 = 4

4 h¿jsØ ]eni = 62.50 x 4 = 250

30. d) 1000

27.  c) 1100 cq]) 1100 cq]) 1100 cq]) 1100 cq]) 1100 cq]

           I = 10000 x 2 x 11       I = PNR
                              2x100              100

                     = 1100
                                                   51

/2 = 11/2

28.  c) 5%) 5%) 5%) 5%) 5%

       1340 = 1340 x 20 x R

                           100

               R =  1340    = 5%
                      134 x 2

]Ww Cc-´n-bm-hpI = ]eni = apX¬

1. b) 1764

2. d) _olm¿

3. a) 1961

4. b) 200c - 270c

5. c) ]o®n

6. d) Nn‰q¿

7. c) 1961

8. c) `oa≥]mWvU

9. a) enhnMv πm\‰v dnt∏m¿´v

10. c) ^nen-ss∏≥kv

11. b) hneyw KuUv

12. a) B\µv

13. d) \hw-_¿ 26

14. c) 5˛11

15. a) A\p-tOZw˛14

16. d) ]p-Xnb kwÿm\ cq]o-I-cWw

17. b) k°-dnb saml-ΩZv

18. b) DØ¿{]-tZiv

19. b) kwt£-]-th-Zm¿∞w

20. d) _©-an≥ s_bven

21. d)  A¿tWmkv ]mXncn

22. b) [¿Ω-cmP

23. c) writes (every day, usually F∂nh ]Xn-
            hns\ kqNn-∏n-°m≥ th≠n)

24. b) reads

25. c)is raining (Now - present continuos

                     Tense s\ kqNn-∏n-°p-∂p)

26. d) speaks (Simple present Tense : express a

        habitual or repeated action)

I = PNR
       100

I = PNR
       100

                   I = I1 - I2

                      
    I1 = 

16000 x 25x1

                                        2x100

                             = 2000

                        
 I2 = 

16000x25x1

                                     4x100

                            = 1000

                            = 2000 - 1000 = 1000


